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A | FHa, biza>b>05L0a? — b2 =2ab kT T5. 2y FHLET (acosd, bsingd) (0 <
) & C Eomk

0 < )T ko CHNEMERINAMEMNE C 232, M P(bcost, asint) (o<x< =
Q(acosd, bsind) KL, f(0) = PQI L 5<.

(1) f(0) =0ThdL %, sin20=sin(0 —1t) BEY IO & &Rt

(2) F(O)=02%2% 0% %HNTHEYE.

B) fO)=0,8B50NbLOL324DtDMHERD L.
(4) t% (3) TR/ 95, ZDrE, f/(O=0&85%0IZHIETEHC LOIREHERETDI=A

DFEZ a, b HANTEE.

0 foy = (bcost - acos 9) + (asint ~bsing)
= bos*t + a%cos® — 20 b cost cos® +a’sin'l + b sin 6 -2ab sintsing

~20%s\n@cosB + 2ab cost sinb +2b sin0co50 — 2ab sint cosl

~2(a*~b*) sin8 cos® +2ab (Sin8 cost = cosO sint)

i

~(a*=F) s\n 20 + 2ab sin(9-1)

—~ 2ab sin20 + 2ab sin (8-1) (+ a*=b*=z2ab &)

cfgr=oaes, -zab{sm20-sin(0-D}=0

sin20= sin(8-1) m

a>b>0 &Y.
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4| Ea, blda>b> 0850 a?—b2 =2ab%Wi-d295. zy FHELET (acosl, bsind) (0 <
0 < 2m) Iz & > TN EBETRINAEMNE C 45, A P(bcost, asint) (o <t< %) Y C Lo
Q(acosd, bsind) IZ#L, £(0)=PQE L 5X.

(1) f/(0)=0ThdLF, sin20 =sin(0 — ) BN LD & & RE,

(2) FAO=02%50%tE2MAVTEE.

(3) fAO)=02H20NbEHIE3DLEDDf%ERD L.

(4 t& () TROLEETE, ZOLE, f/(0)=0&%25% 01T 2 C Lo 3 Mz e 5=
DEFE%: a, b%x HWTRE.
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() t=%0e5 fly=otwdoa =7, FR, 77
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(acas 75° bsin75°), ( acos 95° bsin/95°), ((Acos 305°, hsin 215°)
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